Amy ate % of these chocolate buttons.

How many did she eat?

1 mark
Circle % of the apples below.

1 mark
Write the number which is half of 38

1 mark
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Sarah has a bag of 24 marbles.

l of the marbles are red.

3

How many marbles are red?

Boris cuts a cake into 8 equal pieces.

Boris eats 4 and Simon eats 3 of the cake.

8 8

What fraction of the cake is left?

Fractions

Write the missing numbers.

of 16

b=

£ 1
= _ of 16
double >
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1 mark

1 mark

1 mark

1 mark
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Money

(@ Work out % of £8

(b) Work out % of £10

() Is % of £15 the same amount as % of £30?

Tick (V') Yes or No.

Yes No

Explain how you know.
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1 mark

1 mark

1 mark
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A shop has 12 bags of crisps.

It sells % of the bags.

How many bags of crisps did the shop sell?
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bags

1 mark
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